


optibelt RED POWER 3

MADHDEBGH<U? B FGH=HJMQV?<U? J?FGB >EY 1?J?7>:Q8B

"HEVRHC FHSGHKLB
? 2 .
A RHILEEE L 19?BFMS?KL<:
rM\_ebqg_gb_ i_j_"Z\Z_fhc

63= t ff fhsghklb ~h
633 t ff rG_lj_ [m_lky |_ogbq_kdh_ h[kem
63% t ff ‘b\Zgb_ gzly _gb_ j_fg_
63& t ff hklZ _Iky g _baf_gguf\1l_q_gb_
91 t  “xefhl k_1h kjhdz kem [u
9 1 t  ~xcfh) rlez\ghlazbfh” _ckl\b_ j_fgb
9 1 +  Axcfh\

+ [hdh\u_ 1jZgb + debgh\u_ rdb\u
JMQV?<U? RDB<U rih~oh”~yYey bkihevah\Zgby

\k_ klZg~Zjlgu_ rdb\u k gzly gufb jhebdZfb
ki_pbZevgu_ rdb\u = ih aZijhfjthf_"mlhqgu_ “ebgu ih azZijiketbgh\y_fgb kh k\hcklI\hf

6 & 30XV

DEBGH<U? B FGH=H

optibelt BLUE POWER

MADHDEBGH<U? B FGH=HJMQV?<U? J?FGB >EY 1?J?>:QB ;HEVRHC FHSGHKLB

k ZjZtb~rguf dhjrhf
I
: : rDhfizdlgAfgkljmdpby ijb\hAZ

63% t ff k ijb_fe_fhc klhbfhklvx ih
63& * ff kjZ\g_gbx k ijb\h~Zfb kh klZg
~xcefhl AZijlgufb j_fgyfb
“xcfhl rM\_ebg_gbj ~Z\Z_fhc fhs
ghklb \ jzaz ih kjz\g_gbx kh
klzgnrzZjlgufb j_fgyfb
L _jfhklhcdhkhv f& ih\u
IMQV?2<U? RDB<U r_ggzy klhcdhklv d \ha”_ckl\bx
\k_ klzg~Zjlgu_ rdb\u obfbgq_kdbo \_s_KklI\
ki_pbZevgu_ rdb\u £ ih aZijhkjhf_ "mlhggu_ “ebgu ih aZijHkhoh”~yley bkihevah\Zgby k
gZly gufb jhebdZfb

DEBGH<U? B FGH=H

optibelt SUPER E-POWER M=S

MADHDEBGH<U? J?FGB K HLDJULUFB ;HDH<UFB =J:
>EYI?J?>:QB ;HEVRHC FHSGHKLB

? 2 .
‘KKHJLBE?GL IJ?BFMS?KL<:
rFbgbfzZevgiZz”® gb_ gZly  _gby

YFB

;3= t ff r K\hckl\h 0 6 ODWFKHG 6HW j_fghb
;3% t ff fhiml mkiZgZ\eb\ZIvky [_a “h
3% % ff ihegbl_evgh]lh baf_j _gby ~ebgu
3& t ff rdzlhgbc ~bzizahg |_fi_jzZImj]

9; 1, iE Axcfh\ hit f& “h f&

9; 1; E: AR @Y

DEBGH<U? RDB<U
\k_ klZg~Zjlgu_ rdb\u
ki_pbZevgu_ rdb\u = ih aZijhkjmf_"mlhgqgu_ ~ebgu ih aZijhkm

evkIl\

NMG>:F?GL
Kujv_ ey nmg~zZf_glzZ “h[u\Z_Ilky
\'dZjv_jZo b ih~rZ_Ilky \ “jh[bedb
glhfu hgh klZeh ijb]hrguf ey bk
ihevah\Zgby

debgh\u_ j_

OHEH>GH? NJ?A?JH<:GB?

Oheh”gzZy nj_azZ kgbfz_I| hkgh\ghc
kehc ZknzZevl b ijhba\h”bl ih]jmadm
ZknZevlih\hc djhrdb \ kZfhk\Ze

FH;BEVG:Y >JH;BED:
Wdhghfby j_kmjkh\ azZ kq

_I fh[bevghklb K ihfhsvx

wlhlh h[hjm~h\Zgby fh gh ~jh[blv ]hjgmx ihjh*m gZ
dzZjv_jZo b m~"Zeylv ZknZevlih\mx djhrdm ihdjulb_ b

hkgh\lghc kehc

fgb aZ\bkyI"jmy

jhbl

DHF.G>GUC B=J

< A"hjh ghf kljhbl_

ijb\h~

gZ hkgh\Zgb_

evkph
b _[h
Zdb@ oz

b\z8by

Loy 239 ¢

:KN:EVLHMDE:>QBD
=hjygbc ZknZevl ih"Z _
IhmdezZ”qgbd

ok 2

DZldb b

]Jjmahih~t

NZjy i

\_d

_klzgh\blky [he__ Ij_[h\ZIl_evguf
h[hjm~h\Zgb_
bklbdb dzd [_k

i

evdh hilbfZzevgh |h"oh"yl Ney kZfuo ly”

Ah\uf j_r_gbyf dhfizgbb 237,% (/7

Ihth Ney kljhbl_evghc I _ogbdb

Iky \ ZknZev
dhlhjuc mdez~u\zZ_

_1h

D:LHBB;JHLJ:F;H<SBD
\b[jhljZf[h\sbdb miehlgyxl
ZknZevlih\uc kehc “h Ij_[m_fh]lh mjh\gy
_fghklb b “he]lh\_qghklb

DHFFMG:EVG:Y M;HIJHQG:Y L?0GBD:

q_f dh]~rZ eblh G_kthpUbelt
"“he gh ijhlb\hklhylv ex[hc kbImZpbb
j_[hchy iZ[hI1Z b fbgbfbazpby \j_f

lhwlhfm
_gb |

SUPER X-POWER

_ogbg_kdhlh

\ukhdhdZqg_kI\_ggu_

_euo mkeh\bc wdkiemzZlZpbb gh

M[hjhggZy fZrbgZ h[_ki_qb\Z_I| hilbfzZev

gmx hgbkldm dzZd gZ wlzZi_
b ihke_ g_1h

kljhbl

_evkl\z

? o) .
"KKHJLBF?GL [J7BEMS?KL < |
rFZehjzZkly bfuc dhj” ~ey

o P= + ff i_j_"~Zqb [hevrhc fhsghklb
3% + ff rHilbfZevgu_ jZ[hqgb_
;3% & ff 0Zjzdl_jbkibdhb
13 & + ff rij_\hkoh~gu_ fZkeh b
S IE +  “xcfhl |_jfhklhcdhklv
1; £+  ~xcfh) rM\_ebqg_ggu_ bgl_j\Zeu

DEBGH<U? B FGH=H |_oh[kem b\Zgby
JMQV?<U? RDB<U rDebgh\u_ j_fgb kh k\hcklI\hf
\k_ klZg~Zjlgu_ rdb\u 0 6 ODWFKHG 6HW

ki_pbZevgu_ rdb\u + ih aZijhkphf “mlhgqgu_ ~ebgu ih aZijhkm

optibelt VB

DE:KKBQ?KDB? DEBGH<U? B FGH=HJMQV?<U? J?FGB

T R
KKHJLBF?GL
rlj_\hkoh~guxcjh\_gv

$ e ff wdkiemzlzpbhgghc gz~_“ghklb
% = ff rHilbfZevgyzZ[hgb _
& +  ff 0Zjzdl_jbklbdb
t ff r Baghkhklhg&fZm gZy hie_ldzZ
( i ff rFhigh ijbf_gylv \ ki_pbZevguo

ijb\h~"Zo 1Zdbo dzZd iehkdh
debgh\uc ijb\h~

DEBGH<U? B FGH=H
JMQV?<U? RDB<U
\k_ klZg~Zjlgu_ rdb\u rDebgh\y_fgb h[eZ"ZxI
ki_pbZevgu_ rdb\u # ih aZijhkphf_"mlhgqgu_ “ebgu ih azijkh@cklI\hf 6 & 30XV

optibelt SK

%Bq-i—DEBGH<U7 J?FGB K HLDJULUFB ;HDH<UFB =J:GYFB >EY 1?J?>:QB ;HEVRHC FHS

r Fgh _klWi_pbZevguo dhgkljmdpbc

MADHDEBGH<U? J?FGB K HLDJULUFB ;HDH<UFB =J:GYFB >EY 1?J?>:QB ;HEVRHC FHS

? ? :
"KKHILBFE?GL IJ?BFMS?KL<:
rH[_jgmlumadhdebgh\u_ j_fgb k

_ldhc

1Zd 63= &= ff baghkhklhcdhc gZjm ghc hie
63% + ff rDI> ~h
63 % + ff rFgh’_kl\ki_pbZevguo
63& t ff dhgkljmidc
9 1 * Axcfh\ r <ukhdZyj_"ZqZ fhsghklb
9 1 t  ~xcfh) rDebgh\y_fgb h[ez”Zxl
9 1 i Axcfh\

DEBGH-U? B FGH=H k\hckI\hf 6 & 30XV

JMQV?<U? RDB<U
\k_ klzg~Zjlgu_ rdb\u
ki_pbZevgu_ rdb\u = ih aZijhkjphf_ "mlhgqgu_ “ebgu ih aZijhkm

« $517= 237,% (/7 *5283 =?2JF:GBY



